R e — R

39.

. Explam why, exhaled s contans maore waler \men‘rd‘

. The odomneter of a car reads §7321 Ok

»

flargr: wrvpet wagTy (R wdy o o (38 AT #

)] ufm’.ﬂrCh‘k shows the time
$.30 AM. What is the distance moved by the cas &2 B SO AM, the odo-
mcter remding has changed w 57337 0 kam 7 Calculate the speed of the
crmkmh

ot § 30 &30 wia ety o crem 373210 %% 7AW 8 50 +n
wel 7wy oww X% o3 $7336.0 km & oTOT ? S e
e iT

Explain why an antacid tsblet is taken when we suffer from acidiry ?
Terws NS AT T 45 T S T

Why is loamy soil very useful for the crops ?

e (e e v w Bl e 1
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CHEMISTRYAPTITUDE TEST -2018

For Class VII & VIII

Full marks : 50 Time : 1.30 hrs. (90 mi.)

Answer 21l the Questions. There are 30 MCQ(1-30)in GroupAeachof ]
marh Fach MCQ has been providad with four options. Shade the corredt
Cpticn with bl oz pen in the Zppropnze box in the Answer Scripe Muhiple
Shading 1s lizhle 10 cancel the relevant answer 0.25 (V) mark will be
deduciad for wrong answer o each MCQ. Group B comzins 10 questions
(31-0)eachof? m_rb-msuutb:stqﬂonsinl‘m:wmﬁdcdin
the Answer-Scripl

GROUP-A

Muitiple Choice Questions : 1x30=30
1. Which of the following option best describes 2 tropical region 7

(2) hot 2nd bnmid

(b) Modzrese tamperamre, heavy rainfall

(c) cold =nd le=mid

(d) bot and dry.

TR ST R

(AFe=E ()T | OFeeswE [d)TFew!

2 Croui Bresker Device which can be usad in place of fise in domestic
elocmic wizing is celled
(2)CBD (»)DCB (c) MCD (d) MCB.
TR T O S SR R R TTRIE T = -
(@) CBD (5)DCB (c)MCD (d)MCB.

3. Which of the following is not waer hame disease 7
(@)Chiclera  (b)mberculosis () yphoid (4) dysentery.
TR hERE T ) ’ .
QT O) P (OSBwwe ()R
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4. Whichofthe following help inmaintaining the suPPLY ofnutrients to the
growing plants and trees ina forest ?
(a) saprotrophs (b) antotrophs (¢) camnivores  (d) heterotrophs,
N oD e e oo Botre COAO AR TS

@R p)wed (T (d) T St
5. Whenice-creammelts :

A) Heatis lost from the ice-cream.

B) Heatis gained by the ice-creamm.

C) Heatislost fromthe surroundings. -

D) Heatis gained by the surroundings.

(@)AandB  (b)BandC () AandC  (d)CandD.

GIEFI T AT

A. iRmd (A oo A

B. Wiy oi+ = FA |

C. FrEECR (4T I ZA A |

D. SRR (4e Stet I o1

(a)AeB )BeC (©)AeC (d)CeD.

6. The rearing of silkworms for obtaining silk is called :
(a)agriculture  (b)sericulture  (C)silviculture  (d) pisciculture.
Firesw B b7 o wn S S O = -
(a) Pemn (b)) cfFEDR (o) Fefearrr () PR
7. Theaquatic animal which ingests food with the help of pseudopodia s
(a) Eagle (b) Fish (c) Aquatic snake (d) Amoeba.
RS TOICAITSATE AT (4SS 21 I 1] T il 2 ©
(a) ®st=1 (b) g (c) =T el (d) it

8. Whichofthe following is digested by saliva ?

(a) Glucose  (b) Starch (c) Cellulose (d) Sucrose.

s @ AR ALY RAF A TR P

(a) g (b) 016 (c) e (d) T
[ Page 20f 8]

9. The partof ourtooth which contains nerves and blood vesselsiscalled :

(a) gum (b) pulpcavity  (c)enamel (d) dentine.
T (O ST R 6 T A 2 Wl A = -
(a) i ()« (c) g (d) @HREA|

10. Which one of the following is nota type of'soil ?
(a)loamysoil  (b)salty soil (c)clayeysoil  (d)sandy soil.
Rrpar e R AT TP AT
(@) crm R (b) TR IR (c) i (d) el

11. Mﬁchofﬂtfoﬂmvh;gmmtpodﬂsofmmobicmimﬁmhmmls?

(A) Carbondioxide (B) energy
(C)Alcohol (D) Lactic Acid.
(@AandB  (b)BandC (c)Aand C (d)Band D.

Coii SIS WA R PG/ (PRl Bt T 1 ¢
(A) T swizs (B)fE (C) g (D) uraibs afFre |

(a)AGB (b)BeC (c)AsC (d)BeD.
12. The procedure of cleaning blood of aperson by using akidney machine

isknownas:

(a)ketolysis  (b) hydrolysis (c) dialysis (d) photolysis.

v TR A AT (U PP S e T e et 1 2

EIEA

(a) FEEAEm  (b) TRTgEREA (O orERPm  (d) wOmRR |
13. Coagulationofbloodinacutor wound is brought by :

(a) plasma (b) platelets

(c) white blood cells (d) red blood cells.

151 TSl ST 20T S Tl QI AL 2 B 2 -

() 7T (b) TR (c) vw TR (d) TR aEIFH)

14. Whichofthe following eventinthe reproduction in flowering plants can
be carried out by a butterfly ?
(a) Germination (b) Fertilization (c) Pollination (d) Seed formation.
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191 oF W siopoores B fare oRT® T -
(y==amE  (b) fiee (c) w=rTatl (d) F& ey

15. Which among the following is the smallest unitof time

(a) second (b)millennium ~ (€) panosecond  (d) micresecor,

N3 T s T 7 1

(a) ows b Refm ()RS (d) IR
16. Tomatoes are cultivated by the practice called :

(a) transpiration (b) translocation

(c) transportation (d) transplantation.

TTAH! (1 oAefors s zd S 2 -

(a) o G=EgR  (©)fRw (CIhe kT
17. Which of the following cannot be used as a food preservative ?

(a) Sodium metabisulphite (b) sodium hydroxide

(c) Sodium benzoate (d) Citric acid.

I TR AN (AR TS TN ¢ ]

(a) crifeam RIS (b) feama TS

(c) GiITE™ (ITHTTHD (d) AT < |
18. Which of the given plastics do not have cross links between their

polymer chains ?

(A)Nylon (B)Melamine  (C) Terylene (D) Bakelite.

(a)Aand B (b)Band C (c)Aand C (d)CandD.

v RO WY WIS AR Y- m S Gig

(a)AeB (b)BeC (c)AsC (dCeD.
19. The element which is stored under kerosene is :

(a)Sulpr  (b)Phosphorus (c)Sodium  (d) Silicon.

PRI W0 AN @ G o 29 -

(a) TR (b) == (c) s (d) AR
[Page4of 8]

20, Aheapofgreen leavesislyingin one comer ofa park. The green lecs =

21.

23.

in the heap bun with difficulty because :

{a) They contain a tough material called cellulose.

(b) They contain a lot of water.

(c) They contain a green pigment chiorophyil.

(d) They do not get sufficient oxygen for burning.

«v=fh Az (@ T ALE PSR % | G2 FE e S
SIS

(a) < TTA =T =5 CRIPTATG AR G5 41 R |

(b) @[T 90 Z57 == SR |

(c) @R 30 FATEITR I A A TR

(d) @M T &) e T (R |

Which of the following is an endangered species of animals ?

(@)Dinosaur  (bjAsiaticlion (c)lIrishdeer  (d)Hyena
[B% AT R0 @ TR

(2)TEETR (b)) gFEere (o) sRRAgE  (d)zEE
. Which of the following are prokaryotes 7
(A) Protozoa (B) Blue-green algae
(C) fungi (D) Bacteriz.
(a)AandB (b)BandC  (c)AandD  (d)BandD.
57 = ErRetE @m
(A) T R (B) F=-7q@ U
(C) == (D) g=5Rw
Which of the folloviing organisms reproduces by binary fission ?
(2) Hydra (b) Yeast (c) Amocha (d) Sea anemore.
[z = B-Rees vmlere i HR 1
(a) == ®)%% (c)ofmm (d) Bi~eRr=m |
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24. [odine is necessary for tho synthesis of whichone of the following
hormones.
(@adrenaline  (b) auxin (o) nsulin .(d) thyroxine.
R ot R 1wy el wicanfoe ALY A ¥
reLgl ()«
(0)gAfdE (b)) wikA oYyl
25. Whichaofthe following represcatcomeet values for the normal atmios-
heric pressure ?
fA) mll‘f;mln pascals (@) 70mm of mercury
(C) 101.3 pascals (D) 76 cm of mereury.
@AadB  (BandC () AmdD  ()BandD.
Aosn ot e argroi B ABe W ¢
(A) 101.3 fawitereme (13) 760 mum *Hia9 §OUA bivf
(C) 101.3 w1 (D) 76 i i1 WCEA I |
(@)AeB (b)BeC (c)AeD d)BaD.
26. Ifthe sliding friction between [wo surfaces is tound to be 8 N. then the
static friction between these two surfaces is most likely to be:
(@SN (b) 10N ()4 N (M 2N.
ot v S0g HLHA Wl (Sliding [riction) (el cien 8N, O Y2 ST AT
tAfRE el WIR U TS A
(a) SN (b) 10N (c)4N (d)2N.
27. When we change a feeble sound to a loud sound, we increase its:
(8) frequency  (b)amplitude  (¢) speed (d) timbre.
A T G R e ROd (loud) TR +ifRere 2 win 11 «iftada FArs
oW
() =T (b) e 2w (c) S [CELEIIT
28. Electrolytes conduct electricity due to the movement of:
(a) electrodes  (b) atoms (c) clectrons (d) ions.
S TR SR oy i Ry + el Sfde «if g F0s =i ¢
(a) SfEeq™ (b) *iFa (c) ZRGA (d)y=h=|
| Page6of8]

Jo.

31.

32.

33.

34,

35.

36.

. The human eyc forms the image olan object atits :
(0) corncit (b) iris (¢) pupil (d) retina.
WIROUA SO (U FICH (1A YR A Dl o w1 g :
() @fI (b) %R (¢) = (dy@®an
The smallest planet of the solar systen s :
() Earth (b) Mars (c) Mercury (d) Saturn.
weHH O e SraCsTH Calb ozl 2= :
(o) 7R (b) wwiter (c)qu (d)«R1
GROUP-B 2x10=20

Why copper metal is used for making electric wires ?
el onift-am e Tl A1y @ YIAT ¢

Between buming and melting of wax which one is what type of change
and why ?
CRITA G @ steTCar w0 (G 3 o ada arae o 1

Why does a sharp knife cut objects more effectively than a blunt knife ?
oSt g o RiTe ¥R RO o T GOl PRSI i1 I - G ¢

Why are the voices of men, women and children are different ?
s, e At g stea 3 fom cwe ¢

Why copper cannot displace zinc from zinc sulphate solution but zinc
candisplace copper ?

ol (e HETeS (s [Gres aifwfes TaTs sttt g e F=Re
AfwiiFe waTS wit @A ¢

1f you want to hear a train approaching from far away, why is it more
convenient to put the ear to the track ?

A CHTR S51S (G 1 *ACS T G AIRCH I ST ] FZU 4TS
*itant W @ T
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